



French as a Foreign Language

COURSES • TUTORING • MEETINGS

WORKSHOPS: CONVERSATION – CULTURE– PHONETICS – WRITING

...and more!

2017 - 2018

All information is available and updated on our website: https://flenantes.org/

You can also visit our Facebook page:

https://www.facebook.com/flenantes/



SIRET 828 442 194 00019

FLE Nantes is registered under number 52440807944. Cet enregistrement ne vaut pas agrément de l'État. **FLE Nantes** is a French association (law of 1901) established in 2016.

We offer **classes** of French as a Foreign Language (FFL), in small groups or individual, according to your level (A1 to C2), as well as **workshops**, **activities**, **tutoring**... and even more!

Our pedagogy focuses on **practice**, more specifically on developing **speaking skills**; our objective is to get our students to communicate easily in everyday life.

ΑII elements needed to communicate and understand are gradually brought on, depending on our students' level. Activities and rhythm vary, dynamic environment. to create a Exercises and personal studying offered so students can keep on learning and practicing at home.

Our teachers have a degree in FFL and several years of working experience. They are passionate about their work and their energy, creativity and openness benefit all their students.

• • • • • OUR COURSES on SCHEDULE • from September to June • • • • •

Our courses are in small groups, from 3 to 6 students.

Different options available: **Regular** (course only) and **Intensive** (course + tutoring + workshops + meetings) Each meetings/tutoring/workshop can also be chosen individually.

Subscription fees:

12€ / school year (sept. to sept.)

A1 LEVEL (Beginner's)					
Price <u>per week</u>					
	Week	Week	Week	Week	
		1 to 5	5 to 10	11 to 15	<16
MORNINGS	Regular : COURSE only, 5h30 <i>per week</i>	55 € 5 weeks=275 €	55 € 5 weeks=275€	55 € 5 weeks=275€	55 € 5 weeks=275€
	Intensive (subscription fee is included) COURSE (5h30) + Conversation hour (2h30) per week	80 € 5 weeks=400€	80 € 5 weeks=400€	80 € 5 weeks=400€	80 € 5 weeks=400€
EVENINGS	Course, 1h30 per week	15 € 5 weeks=75€	14 € 50 5 weeks=72€50	14 € 5 weeks=70€	13 € 5 weeks=65€

A2 to C2 LEVELS					
		Price <u>per week</u>			
Week Week Week 1 to 5 5 to 10 11 to 15				Week <16	
MORNING and AFTERNOON courses	Regular : course only 4h <i>per week</i>	40 € 5 weeks=200€	38 € 5 weeks=190€	36 € 5 weeks=180€	34 € 5 weeks=170€
	Intensive (subscription fee is included) Course (4h) + Workshops (6h) + Meetings (2h) + Tutoring (3h) + per week	105 € 5 weeks=525€	102 € 5 weeks=510€	100 € 5 weeks=500€	95 € 5 weeks=475€
EVENINGS	Course only, 1h30 per week	15 € 5 weeks=75 €	14 € 50 5 weeks=72€50	14 € 5 weeks=70 €	13 € 5 weeks=65 €
	Course (1h30) + Workshop "Conversation" (1h30) per week	26 € 5 weeks=130€	25 € 5 weeks=125€	24 € 5 weeks=120€	23 € 5 weeks=115 €

	Price <u>per week</u>		
WORKSHOPS	Phonetics	> A2 • 1h/ week	10 €
	Writing	> A2 • 1h30/ week	12 €
	Conversation	> A2 • 1h30/ week	12 €
	Culture	> A2 • 2h/ week	14 €
TUTORING	Study independently, with all the school material available and training for DELF, DALF + a teacher here to help anytime	> All levels, A1 to C2 • 3h/ week	15 €
MEETINGS	Friendly time to exchange in French, speak naturally "out of the classroom"	> All levels, A1 to C2 • 2h/ week	8 €

OUR PRIVATE LESSONS

Private lessons						
	Solo or Duo					
Price per 1 course of 1h30						
	11 to 20 courses	> 21 courses				
Solo (1 student – 1 teacher)	40 €	39 €	38 €			
Duo (2 students – 1 teacher)	54 €	52 €	50 €			
Possibility to come to your home or your office (in Nantes) – please add a 5€ fee to each course						

• • • • • • OUR SUMMER COURSES • July and August • • • • •

SUMMER COURSES			Price <u>per week</u>		
Subscription fees: 12€		Week 1 to 3	Week 4 to 6	Week 7 to 9	
Regular option	Course in group (7h30) 9h15 -10h45 or 2pm-3:30 pm	7h30 / week	75 € 3 weeks= 225 €	70 € 3 weeks= 210 €	65 € 3 weeks= 195 €
Intensive option	Course in group (7h30) 9:15 -10:45 or 2pm-3:30 pm Workshop – activity (7h30) 11:15-12h:45	15h / week	130 € 3 weeks= 390 €	120 € 3 weeks= 360 €	110 € 3 weeks= 330 €

	Monday (1h30)	Culture available on website	One price:
Summer activities	Tuesday (1h30)	Reading skills and Writing	12€
	Wednesday (1h30)	Phonetics – spelling and pronunciation	per workshop /
and workshops	Thursday (1h30)	Conversation	
	Friday (1h30)	Activity available on website	activity

Levels and general objectives

	A 1	A 2	B2	B2	C1 / C2
AVERAGE DURATION	From 30 to 60 hours	From 60 to 100 hours	From 100 to 150 hours	From 150 to 200 hours	From 150 to 250 hours
OBJECTIVE	Communication: Daily basic	Communication: Simple in relation with immediate needs	Communication: Standard on familiar topics and fields of interest	Communication: Spontaneous, easy and detailed on concrete and abstract topics	Communication: Complex, explicit and implicit, spontaneous in social and professional life

• • • • • HANDY INFORMATION • • • • • • • •

CALENDAR 2017-2018

5-week sessions organized throughout the year. Dates of new sessions:

8th January 12th February 26th March 14th may 2nd July 6th august 17th September 12th November

Session breaks

• from 26th February to 4th march

• from 29th April to 14th may

• from 18th June to 1st July

o from 3rd September to 16th September

from 29th October to 4th November

During session breaks, FLE Nantes offers workshops and activities... just for fun!

COURSES SCHEDULE:

All our schedules, for courses, activities, tutoring and workshops are available on our website.

They might change throughout the year. Our students will then be informed.

Morning courses: from 9 to 12; Afternoon courses: from 1:45pm to 6pm; Evening courses: from 7pm

CONTACT US – MEET US!

Mail: flenantes@gmail.com

Phone: (+33) 7 83 94 02 44

School address: FLE Nantes

6 rue Cuvier • 1st floor - 44100 NANTES

Opening hours

Mondays 4pm • 6 :30pm Thursdays 4pm • 6 :30pm

Other times: by appointment

TRANSPORTATION TO THE SCHOOL

Less than 15-minute walk from the city center

Tram 1 • stop Chantiers Navals or Gare Maritime

Bus C1 – C3 – 23 • stop Lamoricière, Canclaux or Mellinet

Bus **11** • stop *Cuvier*

• • • • • • • in FLE Nantes, you will also find... • • • • • • • • •

- A **get-together** once a month, **the "Apéro night",** so students and French people can meet and share a good time together, in a chilled and fun mood.
- A library, available for members of the school: borrow books, DVD, CD, textbooks...
- Free activities, open for all during the session breaks
- Creation of **language duos**: a French speaking person and a student, both willing to share their language and culture for a relaxed sharing moment
- Online learning content, available for free
- **Don't forget about...** a good and friendly spirit, attentive and available teachers, a kitchen available for tea, coffee and eat your own lunch.
- We can also create "made to order" training sessions for FFL (French as a Foreign Language) or FSP (French for Specific Purposes). Contact us for more information and quotes.